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Q L. (MCQ Questions) Choose the Most Approsriate Answer: (25 Marks)
1. A B C D 26. A i} C D
1. A B C o 27. A B C D
3. A B C D 24. A B C D
4. A B C D 29, A B [ € b
5, A B C D 30. A B C D
6. A B C D 31, A B C D
7. A B C D 32. A B C D
8. A B C D 13, A B C D
9, A B C D | M. A B C D
10. A B C D 3s, A B C D
11. A B C D 36. A B C D
12. A B C D 37, A B C D
13. A B C D 38, A B C D
14. A B C D 39, A B C D
15. A B C D | 40, A B 3 D
16, A B C D 41. A B o D
17. A B C D 42, A B C D
18. A B C D 43, A B C D
19, A B C D 44. A B C D
20. A B C D 45. A B C D
21. A B C D 46, A B C D
22, A B C D 47, A B C D
23. A B & D 48 A B C D
24. A B C D 49 A B C D_|
25, A B C D 50, A B C D
_QIL True and False Questions: (15 Marks)
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2, T F 12. T: F 22. T F
T 3 | T F B3 | T [ F 0 F
4, T F i4. T F 24. T F
5. T F 15. T F 25, T F
6. T F 16, T F 26. T F
| ¥ F . |- 7§ 27. | T F
B | T F 18. T F 28, T F |
.1 T F 9. | T | F 29, T F
W] T F 2. | T [°F ] T | F
QIIL Mateh the following terms in the column (A) with their meanings in the columa (B):
(3 Marks)
L. 2: 3, 4. 5. 6. 7. 8. 9, 10. J
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QL. Circle the most corree! -."::: iﬂ:ﬂ“ in longevity globally has beey;

1. The major reason(s) o of clean walcr.
al lncrl.'l!il'lﬂ Iﬂ‘ﬂ'l'i Ith IHEEIFIEI"
jon of mare healthy
1:: ;‘n:;':wd sanitaticn:
d) aandc above.

¥ of transmission of an infectious agent is associated wiy,

robabilhi
!1 TthF ]M mvlmmml

b) Social Ihﬂ'ﬂl’l_
¢) Cenefic and biologic factors.

d) Al of the above

Infinenza incidence peaks in:
a) January-February
b) April-May
¢) June-July
d) September-October

Non-comminjcable discases wsually are:
a) Of shon duration.
h) Mot infectious.
¢) Slowly progressive
d) B andc.

Globally, which form of cancer has the highest mortality in males?

s} Pancreatic
b} Colorectal
¢} Prosiate.
d) Lung.

Newral tube defects in the infunt/fefus may resull from inadequate mulers
af:

a) Vitamin A

b} Folic acd.

€} Magnesium.

d) Vitamin [

7. Which of the following diseases has been eradicated?
i) Smallpox.
b} Polio
€} Measles.
d) a and b above,

H. 'The major factor leading 1o a decling in the incidence of Ilbﬂ'ﬂlmﬂhﬂ
was

a) Development of effective antibiotic treatment

b} Better housing and reduced crowding

<} Development of penicillin

d) Development of refrigeration for foods

Y
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9. The goal(s) of & vaceine in'are 1o:
a) Prevent infection,
b} Prevent complications
¢) Treat clinical cases,
d) Mone of the abowve.

10. The Cancer and Sterold Hormaong (CAg
H) study, in which women with breast
cancer and a comparable group of wogey without breast cancer were asked about

rio foral
“d:}P Ex:m:n;rmﬁ:t"“m“ is an example of which type(s) of stody?

b) Case-control study,
¢) Cohorn study.
d} Cross sectional survey.

1. A pharmaceutical company showed the following in am article: " 1500 subjects with
a cold were treated with our new medicine. Within three days, 95% were
asymptomatic and this resuli was statistically significant.” The company claims the
new medicine was effective. Is this conclusion justified?

a) Yes, because the effect was very large (95% of the subjects benefitted from
ireatment ),

b) No, because statistical significance indicates that the null hypothesis ("no effect”)
WAaS correct

¢} No, because no control group was involved in the study.

d) Yes, because the effect of treatment could not be explained by chance.

1. To be causally associated with discase, the etiological factor should falfill the
following eriteria EXCEPT:
a) The factor is present in all subjects with the disease.
b) Eliminaticn of the factor reduces risk of the disease.
¢} The exposure to this factor should precede the development of the discase.
d) The factor is more prevalent among those with Lhe disease than among those
without the discase.

13. When the health indicator measure what it is supposed to measure it called:
a) Reliability.
b) Sensitivity.
c) Validity.
d) None of the above.

14. Which program is an example of sccondary prevention?
a) A community-wide nutrition program at fast-food establishments.
b) A program to immunize persons exposed to infectious disease with
immunoglobulin G within two weeks of exposure.

¢) Alcoholics Anonymous.
d) An exercise program for persans who have had a stroke,

15. In a population of 10,000,000 people, 8l a given time 500 individuals have motor

pearone disease. What is the point prevalence of motor neurone discase in this

population ai this given time?
a) 0.05 per 100.000.
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by 0.5 per 100,000,
¢) § per 100,000,
d) 50 per 100,000,
16. Which one of the following diseases is a communicabie?
s} Rickets,
b) Amochiasis
[ g] [mabetex
di Cancer.

17. Disease existing al or beflore birth is:
a}) Congenital.
b} Communicable.
¢) MNoncommunicable.
d) none of these.

18, A hacterial disease is:
a) Leprosy.
by Polio.
e) Chicken pox,
d) Influenza,

19. A state of complete physical meninl and social well-being ks called:
a) [hscase.
b) Health
c} Hygicne.
d) Infirmity,

20, Stedy of mode of transmission of discases is called:
a) Parasitology.
b} Epidemiology
c) Mosology.
' d) Immunoclogy.

21. A person preparing feod (e.g., Mary Millon) can be 3 major source ol
discasze:
a) Pncumonia
by Syphilis.
¢} Typhoid.
d} Cancer

11. Which of the following confer(s) passive immunity:
a) Hepatitis B vaccing
I} Cross placental ransfer of maternal antibodies.
¢} Infection with meas|cs virus,

d) Hepatitis B immunoglobulin,




gintaining the cold chain &
I&-:l.“'m-m Instructions “:.“r- thai vaccines are stored sccording to

a) 0% +4°C,

b) -1%10+ 5°C.

c) +4°%w0+8°C.

d) +2%w+8'C.

24. Vaccination with a live vaceine should he deferred if:
a) The patient is receiving Systemic high -dose steroids.
b} The paticnl is a premature infani
¢) The patient has a febrile ilinesy
d) The patient has a family history of epilepsy.
| 15. In addition to being u
following should be
conimet:
a) BCG.
b) Hepatitis B,
¢} Influenza
d} Hepatitis A.

P to date with the rouiine immunizations, which of the
considered for healiheare stafT involved in direct patient

16. Fluoridation of water would be an clampile of:
a) A primary prevention stralegy,
b) A secondary prevention strategy,
€) A tertiary prevention ;
d} Itis not a prevention strategy.

27. The resistance of & population 1o an atiack by a disease to which s large proportion
of the members of the group are immuane is referred 1o as...
a) Group resistance.
b} Population immunogenesis,
€) Herd immunity.
d} The Panum Effect,

28. 6.A person with a severe cold smeczes into a bath towel. Later, a family member

takes a shower and dries himself with the same bath towel. As he dries his face, this

individual becomes infected with the cold virus and develops a cold himselfl. This is
! an example of:

a) Direct contact transmission,
b) Indirect contact transmission,
€} Airborne transmission.

d) Vector transmission,

29. A cobort study differs from a case-conirol study i thay.
8) Subjects are enrolled or categorized on the basis of fheir eXposure status in a
cohon study but not in a case-control study._
b) Subjects are asked about their exposure Status in a cohinn study but not in & case-
control study, )

) Cohort studies require many years o condusct, but casc-control studies do not.




Cohon stdies € €Oducted 1o investigate chronic dicases, case-cony,
9 are used for infectious diseases,

lotogie trisd of disease cansation refers to: (Choose ome bes) 4y,
» “::ﬁ:;:m host, EnvIroNmeng,
ace, Fﬂm
:';' mﬁmﬂ# of transmission, susceptible host.
d) John Swow, Robert Koch, Kenneth Rothman.

3. Al of the followlng 8t¢ considered from the disadvantages of cojg,
EXCEPT:
a) It takes long time 10 complete study.
h) Cobort studies B¢ NOI expensive.
¢} Has more cthical problems.
d) Persons may lose inlerest and will not come for follow-up.

carries the same definition of epidemic, but is often used for ,
limited geographic arca.

a} Pandemic.

b} Sporadic.

¢} Outbreak.

d) Endemic.

A2,

33. Action is taken AFTER the disease bas occurred to prevent comphicatiog
further injury s called:
a) Primordial prevention,
b} Primary prevention.
c) Secondary prevention.
d) Tertiary prevention,

34. Disease climination means all of the following EXCEPT:
a) Disease is not presént in some countries,
b) But discase is present in other counlries.
¢} Immunization must be done 10 prevent disease.
d) Rubella was eliminated from Palestine,

35. Which of the following i correct regarding disease eradication:
a) The disease is nol present anywhere in the world,
b} The agent is also present in certain countries in the waorld,
€) Sothere is 2 need 1o immunize against it
d) Polio was eradicated from Palestine.

36. All of the following is conceded from the Principles of Health education EXCEl
a) Dhsinteresy,
b) Parlicipation,
¢} Reinforcemen,
d) Motivation,
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37. All of the fullowing are considered frop, yiggal alds EXCEPT:
n} Posters.
b) Slhides.
¢) Black board.
d) Radio.
38. All of the following are objectives of sehggl bealth program EXCEPT:
a} Health promotion of schoo! childrey,
b) Encourage risk-taking behaviors (ag smoking),
¢} Prevention and control of health hazards.
d) Rehabilitation of the handicapped,

3%, The school child is the subject of special conshderation for many reasons EXCEPT:
a) This group is of vital importance 1o the health of the community.
b) They constitute a none sizeable segment of the population
¢} School children are subject 1o the risks and dangers of communicable diseases
d) They undergo the stresses and strains of growth and development.

40, All the following arc exnmples of screening tests done in schools EXCEFT:
a) Visual acuity.
b 10} testing.
¢) Dental examination.
d) Treatment of TH.

41. In constructing the school buildings the windows must be on the—— side of the
students.
a) Right
b) Left.
¢} In front
d) Anywhere.

4. The distance between columns of desks in the class room will be:
a) 6 ocm.
by 60 cm.
¢) (6 em.
i} 60dcm.

43, when constructing school building the rate of toiletie to student will be:
a) Toiletie / 30 students.
by Toilette £ 40 students.
e} Toilette / 50 students.
d} Toileite / 60 students.

44. Which of the following is NOT from the benefiis of immunization?
a) It is better to keep people from falling ill than 1o wreat them once they are ill.
b} Suffering, disability, and death are avoided.
¢) Strain on health-care systems is easod.
dy Money is frequently nol saved.



includes Most of yuecines given to public ang "‘“"“ml, o
(helr immBRE Slatuy including tetanus foxoid,
improve '
" |‘|II Natural active.
b) Anificial sctive,
¢} Natural P‘“"";:I
m W‘I\::I: T 11:: L,:L::q vaceines |s considered from the live ‘"““hd
o
a) Perfussis,
b} BCG,
€} Diphtheria.
d)y InfMuenza

45,

Ings

8} Limited access.

B) Vaccination cost,

<€) Patient disinterest

d) Increasing literacy rate,

48, All of (he following can damage (he vaceines EXCEPT:,
a) Frm:tng_

b) Hear
c) Sunlighl-
d) Keeping in +3 o+ goc

towards | {neither risk or Protection) gt high rates of
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6. —-— From the ndvantages of case control st the high atirition (loss of patienis) problems.

7. == Case control study also called incidence spydy.

§. ——— If relative risk is 10, that means there is no risk.

9, weeeees Discase prevention can be achicved even by blocking just ONE risk factor!,

10, -~ Epideminlogical triad considers all predisposing factors or risk factors and their
interaction.

11. ———Endemic refers to a disease that occurs infrequently and irregularty.

12. An increase in the mosguitoes may be responsible for an outbreak of Malaria.

13 In Primary prevention we prevent emerpence of risk factors

14. ——Risk factors like Smoking, Obesity, Sedentary life style eic. are prevented.

18, -~=——Muny health problems are due 1o the lack of knowledge regarding health among the
people.

16, ======— Learning should be passive and not active.

17, ~=eeeee Children with minor or mild cases of disability can atiend rogular schools.

18, ——— Immunization is the most cost-effective public health intervention.

9. Immunization s considered among the lowest cost-cffective of health

investments.

20, ——--- Hepatitis A virus infections are known as the "silent epidemic”,

21, = ¥Yaccine polency can be regained once it is lost

21, —— Vaccines are very sale, and side cffects are minor — especially when compared 1o the
disenses they are designed to prevent,

23, - BCG is the only vaccine which should not be administered 10 children with clinically

apparent AIDS or immune deficiency.

24, —=eaee An endemic s an occurrence of dizcase in excess of normal expectancy.

25, === Mortality is the proportion of people whe live from a discase to the population of a
geographic area for a period of time,

26, ~—---- School children are subject to the risks and dangers of communicable discases.

27, —-——"Education is fundamenial 10 health and health is vital for efficient education”,

28, --eeeee Severe forms (e.g. the deall blind, or mentally retarded) can attend regular schools.

29, ——-==-Not all risk (actors are necessary 1o cause disease,

J0.

Primary prevention s iclion taken afer the onset of disensc.



OIIL Maich the follawing terms in the column (A) with their meanings in the columy ®

(5 Marks)

Columa (A) Column (B) T

. ——Active immunity A. group of people are protected against infectiou g

2. ——Chinical trials B. It is the cycle of transportation of vacciney |
factory 1o the child.

3, —— Discase prevention C. Involves the administration of a test regimen 1y
to evaluate its efficacy and safety,

4. ——=Discasc eradication . The mode of transport of an mfectious agent the
environment 1o a susceptible host is called a:.

& =———Cold chain E. Is the rate of disense or proportion of discased pe
& geographic area.

6, ———~Cohort study F. IlEnmpamlmufuﬂwkiﬂedmi:mwi;
induce immunity 1o specified disease.

7. ———horhidity G, The development of immunity from previous &
an agent before a vaccine or natural infection.

8. —-- Herd immunity H. A longitudinal or prospective study is also refe

a{n}

——Vghicle

s action taken before the onset of disease.
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QIV. Amswer Ihe fullowlng question: (8 Marks)

A Cohort study wia done W find the sssociotion of eating more Tatty food and corinary heart
divoase, 1000 people whose diet contsingd mope fatry food were selected 10 form the study
gohort. 1000 poople who me halsnced diel were slected as control cobort. ‘They were followed
up for 10 years. 60 people from the iudy cohon developed coronary beart disease s 4 people
form the control group developed coronary hean o jsense, [haw & 2x2 table and calculase 1he
folbowlng:

A, Incidence mite of Coronary heait disease among the study cobon
I Incidence rate of Coronary heant disease among the control cohwort.
. Relative risk and give your comment

Good luck for all
Dr. Abmed Najim



